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 BBYCT-137  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG) 

Term-End Examination 

June, 2022 

BBYCT-137 : PLANT PHYSIOLOGY AND 

METABOLISM   

Time : 2 hours Maximum Marks : 50 

Note :  Question no. 1 is compulsory. Attempt any  

four questions from questions no. 2 to 8. Draw 

well-labelled diagram, wherever necessary.   

 

1. (a) State whether the following statements are 

true or false :  4
2

1
=2 

(i) The stomatal index is constant for a 

species and is used as a good 

taxonomic character.   

(ii) Turgor pressure of a flaccid cell will 

be 1.  

(iii) Sugars are transported via both 

apoplastic and symplastic routes.  

(iv) Glycolysis can continue even when 

the supply of NAD+ is limited.  
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(b) Fill in the blanks :  31=3 

(i) Water deficit leads to the __________ 

of the stomata in day time. 

(ii) A short day plant requires more than 

a critical period of _________ . 

(iii) The most preferred element which is 

translocated by apoplastic pathway is 

____________ . 

(c) Define the following terms :  51=5 

(i) Exosmosis 

(ii) Hygroscopic water 

(iii) Guttation 

(iv) Field capacity 

(v) Leghemoglobin 

2. Describe Calvin–Benson cycle with a labelled 

schematic diagram indicating the sites of ATP 

and NADPH consumption. 10 

3. (a) Describe the three functions of essential 

elements. 3 

(b) List any four macronutrients and describe 

how the deficiency of any two of these 

macronutrients affects the plant growth. 2+5 

4. How were gibberellins discovered ? Discuss its 

bioassays and functions. 10 
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5. Describe the reactions of TCA cycle indicating 

the enzymes involved and the sites of ATP 

synthesis with labelled schematic diagram.   10 

6. (a) Discuss phytochrome mediated responses. 5 

(b) Define vernalization and discuss its 

mechanism of action. 5 

7. (a) Discuss the significance of transpiration. 

Describe the mechanism of stomata opening 

and closing with proper diagram. 5 

(b) What is stress ? Discuss various ways 

adopted by plants to reduce pollutant stress. 5 

8. Write short notes on any two of the  

following :  25=10 

(a) Abscisic acid 

(b) Gifted species 

(c) Allosteric enzymes 

(d) Agricultural biotechnology 
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 ~r.~r.dmB©.gr.Q>r.-137  

{dkmZ ñZmVH$ (gm_mÝ`) 
(~r.Eg.gr.Or.) 

gÌm§V narjm 

OyZ,  2022 

 

~r.~r.dmB©.gr.Q>r.-137 : nmXn H$m{`©H$s Am¡a CnmnM` 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 8 _| go {H$Ýht Mma 
àíZm| Ho$ CÎma Xr{OE & Ohm± H$ht Amdí`H$ hmo, dhm± 
gwZm_m§{H$V AmaoI ~ZmBE &     

 

1. (H$) ~VmBE {H$ {ZåZ{b{IV H$WZ gË` h¢ AWdm  
AgË`  : 4

2

1
=2 

(i) a§Y«m§H$ EH$ àOm{V Ho$ {bE ñWmB© hmoVm h¡ Am¡a 
EH$ AÀN>o d{J©H$s` JwU Ho$ ê$n _| Cn`moJr  
h¡ &  

(ii) EH$ MnQ>r (flaccid) H$mo{eH$m H$m ñ\$s{V Xm~ 
EH$ (1) hmoJm &  

(iii) eH©$amAm| H$m ñWmZmÝVaU EnmoßbmpñQ>H$ Am¡a 
{gåßbmpñQ>H$ XmoZm| nWm| go hmoVm h¡ &  

(iv) NAD+ H$s Amny{V© gr{_V hmoZo na ^r 
½bmBH$mo{b{gg Omar ah gH$Vr h¡ &  
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(I) [aº$ ñWmZm| H$s ny{V© H$s{OE :  31=3 

(i) {XZ _| nmZr H$s H$_r go a§Y« _________ hmo 
OmVo h¢ & 

(ii) EH$ Aën Xr{ßVH$m{bH$ nmXn H$mo H«$m§{VH$ 
Ad{Y go Á`mXm __________ H$s Amdí`H$Vm 
hmoVr h¡ & 

(iii) EnmoßbmpñQ>H$ nW Ûmam dar`Vm go A{^J_Z 
H$aZo dmbm VÎd __________ h¡ & 

(J) {ZåZ{b{IV nXm| H$mo n[a^m{fV H$s{OE :  51=5 

(i) ~{h…namgaU 

(ii) AmÐ©Vm Ob 

(iii) {~ÝXþòmd 

(iv) IoV (joÌ) H$s Ym[aVm 

(v) boJhr_mo½bmo{~Z 

2. H¡$pëdZ–~oÝgZ MH«$ H$m Zm_m§{H$V AmaoIr {MÌ g{hV ATP 
Am¡a NADPH Ho$ Cn^moJ Ho$ ñWb ~VmVo hþE dU©Z 
H$s{OE & 10 

3. (H$) A{Zdm`© VÎdm| Ho$ VrZ H$m`m] H$m dU©Z H$s{OE & 3 

(I) {H$Ýht Mma ñWyb nmofH$m| H$s gyMr ~ZmBE Am¡a dU©Z 
H$s{OE {H$ BZ_| go {H$Ýht Xmo ñWyb nmofH$m| H$s H$_r 
nmXn d¥{Õ H$mo H¡$go à^m{dV H$aVr h¡ &  2+5 

4. {O~ao{bZ H$s ImoO H¡$go hþB© ? BgHo$ O¡d-Am_mnZm| Ed§ 

H$m`m] H$s {ddoMZm H$s{OE & 10 
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5. TCA MH«$ H$s A{^{H«$`mAm| H$m dU©Z BZ_| gpå_{bV hmoZo 
dmbo EÝµOmB_m| Am¡a ATP g§íbofU Ho$ ñWbm| H$mo ~VmVo hþE 
EH$ Zm_m§{H$V Amao{IV {MÌ g{hV H$s{OE & 10 

6. (H$) \$mBQ>moH«$mo_ _Ü`ñW AZw{H«$`mAm| H$s {ddoMZm 
H$s{OE & 5 

(I) dg§VrH$aU H$s n[a^mfm Xr{OE Am¡a BgH$s {H«$`m 
H$s {H«$`m{d{Y H$s {ddoMZm H$s{OE & 5 

7. (H$) dmînmoËgO©Z Ho$ _hÎd H$s MMm© H$s{OE & a§Y«m| Ho$ 
IwbZo Ed§ ~ÝX hmoZo H$s {H«$`m{d{Y H$m C{MV {MÌ 
g{hV dU©Z H$s{OE & 5 

(I) VZmd Š`m h¡ ? àXÿfH$ VZmd H$mo H$_ H$aZo Ho$ {bE 
nmXnm| Ûmam AnZmB© OmZo dmbr {d{^Þ H$m`©Zr{V`m| 
(VarH$m|) H$s MMm© H$s{OE &  5 

8. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±  

{b{IE :   25=10 

(H$) Eãgr{gH$ Aåb 

(I) j_Vm g§nÞ àOm{V`m±  

(J) EbmoñQ>o[aH$ EÝµOmB_ 

(K) H¥${f O¡d-àm¡Úmo{JH$s 

 


